
NEUSPEED • 3300 Corte Malpaso • Camarillo, CA 93012 • 805.388.7171 • 805.388.0030 FAX 

www.neuspeed.com 

 
 

RACE SERIES REAR ANTI-ROLL BAR SUPPORT BRACKETS 

FITS 2006-up AUDI A3(8P) FWD, 2008-09 AUDI TT(8J) FWD 
2005-up VOLKSWAGEN GTI MKV/VI, Jetta V/VI, 

2006-up Passat(B6) FWD, 2007-up EOS, 2007-09 Rabbit 
 2009-up CC FWD, 2010-up Golf VI 

 
PART # 45.10.91 

INSTALLATION INSTRUCTIONS 

 

 

PARTS LIST:  1 - M6 Nutsert Tool   2 - M6 Nutsert 

   2 - M6 x 16mm Flange Bolt  2 – M10 Lock Nuts 

   2 – M10 x 25mm Flange Bolt 1 – Left Support Bracket 

   1 – Right Support Bracket   

        

TOOLS REQUIRED: 1 – Ratchet Wrench   1 - 9/16” Wrench 

   1 – 10MM Socket   1 – 13MM Wrench   

   1 - M10 Triple Square (12 Point) 1 – 17MM Wrench 

        or 8MM Hex Key Wrench 

    

 

1.  Park car on a flat, level surface capable of supporting the vehicle’s weight on jack and           

jack stands.  Using the manufacturer’s recommended lifting point(s), raise rear of vehicle 

and support with jack stands.  NEVER WORK ON A VEHICLE SUPPORTED ONLY WITH 

A JACK!  

 

 
2. Remove the (4) anti-roll bar bushing 

clamp mounting bolts using a M10 Triple 

Square or 8mm hex key wrench. 

 

 
3. Install Nutsert into this hole (see 

separate instructions for Nutserts). 

 

 

 

 

 



NEUSPEED • 3300 Corte Malpaso • Camarillo, CA 93012 • 805.388.7171 • 805.388.0030 FAX 

www.neuspeed.com 

  

 
4.  Installing Nutsert, hold tool body with 

9/16” wrench from turning and push down 

on Ratchet while crimping Nutsert into hole. 

 

 
 

5. Loosely mount Left and Right Support 

Brackets, do not tighten at this time. Now 

follow NEUSPEED Anti-Roll Bar installation 

instructions. NOTE: Evenly tighten Anti-Roll 

Bar bushing clamp bolts and Support 

Bracket bolts. 

 

 

 

6. Double check complete installation and tightness of all nuts and bolts! 
 

 
 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 
 

 

 

 
 

 

 

 

 
 

 

 

 
 

Copyright 2010, NEUSPEED®.  All rights reserved.  Reproduction in whole or in part prohibited. 

DOC.45.10.91  Rev. 05.12.10 


